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FRBEE
HE&E_ 12 73,632 88,947
REENR 2 RS 14 160,130 159,509
FRERE 4,380 4,380
LS 13,134 13,179
EHMRE 5 - 2,297
BE 16 79,203 79,073
330,479 347,385

RBEE
BANRE  REREMERRE 30,690 55,422
FE 17 417 318
SYMBEREXERM 18 27,698 53,306
B W AR 3 19 20,037 29,095
E B - 17,130
RERBOEER 28,357 21,744
107,199 177,015
RBEE

B IR 20 70,084 55,743
Bt SRR AR RN 37,359 33,806
EERS 4,437 7,133
FHRBERERMAR 21 445 178
ES®EHRRE 22 1,615 2,200
B 10,573 9,993
124,513 109,053
RBEE(BF) FE (17,314) 67,962
REERRBRE 313,165 415,347

FRBEE
FEHBERERAR 21 1,174 473
RIS A A 22 3,091 2,478
EEB B 23 - 110
4,265 3,061
SBRRER 22 28
308,878 412,258

BAR G
SERITRA 24 80,089 80,089
it 26(a) 228,789 332,169
308,878 412,258
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